Multiplication de Deux Binomes (E)

Simplifiez chaque expression.

(72° + 52%) (7w — )

O

(=307 4+ 4n?) (=Tn’ — 8n?)

3. (4m? — 3m)(Tm* + 5m?)

N

- (—2a+1)(—8a — 6)

- (2m? + Tm)(9m® — 5m?)

Ot

6. (—4y + 2)(—by — 3)

7. (3p" —6p”) (2p” — 4p?)

(0]

(=2m? 4 5m) (8m* + 4m?)

0. (3 — 4)(82% + 2z)

10. (=7¢" = 2¢")(Tc — 8)
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Multiplication de Deux Binomes (E) Réponses

Simplifiez chaque expression.

1. (72 + 52%)(Tx — 5)
— 492% — 2522

2. (=3n® 4 4n?)(—Tn’ — 8n?)
— 21n® — 4n" — 32n°

w

(4m?* — 3m)(7Tm* + 5m?)
= 28m°® — m® — 15m*

1. (—2a+1)(—8a — 6)
— 164> + 4a — 6

(@x

C(2m? + Tm)(9m® — 5m?)
= 18m° + 53m* — 35m3

6. (—4y +2)(—dy — 3)
= 209° + 2y — 6

7. (3p" — 6p°)(2p” — 4p?)
= 6p’ — 24p° + 24p°

8. (=2m?* + 5m)(8m® + 4m?)
= —16m° + 32m* + 20m?

9. (3x — 4)(82* + 2x)
— 2473 — 2622 — Sz

10, (=7¢" = 2¢")(7c — 8)
= —49¢% + 42¢° + 1664
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